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Wiskunde VV1/Mathematics P1

e ACCEPT ALL MATHEMATICALLY VALID ALTERNATIVES

e ONLY PENALISE FOR ROUNDINGIN1.1.1
VRAAG 1/QUESTION 1

2

Sept 2018

QUESTION SOLUTION DESCRIPTORS MARKS/
LEVELS
111 | x2—-10x—-3=0
Incorrect formula : No
 —b+vb?—Zac marks
x= 2a
—(—10) +/(=10)2 = 4(1)(=3)
X = v
2(1)
subst into correct formula
+
L v x = 10,29
2 v x=-029
x=10,29 or x =-0,29 —1rounding
Only penalise for rounding
at this question
B K
1.1.2 x+2)x—-9)=0 v'v' each factor
x=—-2o0f/orx=9 v’ answers CA
OR
x?—7x—18=0 v'standard form
-9 2)=0
(x=9)x+2) v factors
x=9o0rx=-2
vanswers CA (3R
1.1.3 3%(3* —9) =0
3*(3* -9)=0
3¥£0: 3*=09 v3* %0
Lx=2 vVix=2
(2K
1.2 1.2.1 16 —4k >0 v16—-4k >0
4k < 16
k<4
v answer (2)K/R
1.2.2 k =—=50r3or 0 or4 (anyone) v’ answer
(DK
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Wiskunde VV1/Mathematics P1

Sept 2018

QUES | SOLUTION DESCRIPTORS MARKS/
LEVELS
1.3 x(x—y+1)=0........(0)
en2x+y—2=0
Viy=-2x+2
y==2x+2 .......(2)
v' substitution into (1)
stel (2) in (1)
xX[x = (=2x+2)+1] =0
x(x+2x—2+1)=0 Y factors
xBx-1)=0 1 v values of x
= 0 = —
X of x 3 1 Vy=2
y=2 y=13
3 \/y = 1§
(6)R
—2<x<1 v critical values
v’ notation
(3)R/K
142 | [Gc—D(x+2) =2 vg'(x)=2 .
(x—1D(x+2) =4 v’ squaring both sides
2 _ 9 —
xz tx—2=4 v standard form
x“+x—6=0
v factors
x+3)(x—2)=0 v answers
x=-30rx =2
Both solutions valid (5)C
[25]
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Wiskunde VV1/Mathematics P1

VRAAG 2/ QUESTION 2

Sept 2018

QUES | SOLUTION DESCRIPTORS | MARKS/
LEVELS
2.1 Sp.=a+ (a+d)+- +a+(n—-2)d+ a+(n—1)d | v step1
So=a+(m—1Dd+a+n-2)d+..+ (a+d) +a v step 2
25, =2a+(n—-1)d....for nterms v step 3
n v step 4
WS, = > [2a + (n — 1)d]
NO CA
OR
Sn=a+(a+d)+~- + (l—d) + l s/stepl
Sn=l+(l—d) + .- + (a+d) + a s/gtepz
2S5, =a+l+a+l....fornterms v step 3
25, =n(a+1)
n
Snzz[a+l] v'step 4
butl=a+ n-1)d NO CA
n
&Sy = 5 [2a + (n — 1)d]
(4K
2.2 221 T,=a+ n—-1)d
35=-5+(n—-1)4 v'substitution
v
44 = 4n simplification
n=11 vanswer GR
222 Si. = % [2(=5) + 10(4)] v'substitution
11
=—-(30)
2 vanswer
= 165
(2R

Kopiereg voorbehou/Copyright reserved




Wiskunde V1/Mathematics P1 5 Sept 2018
QUESTION SOLUTION DESCRIPTORS | MARKS/
LEVELS
23 |231 S, =2(1)—12
=1 v'sub
aTy =1 vanswer Ty
(2)C
2.3.2 Sis — Si2 vM — S5
= [2(15) — 15%] —[2(12) — 127] vM— S,
= —195 — (—120)
= _75 vanswer
)P
24 aantgé stawe /number of s_te_zel bars 3;7;11 va =3 and
n=-—= 15 (ryoppervak/driving surface) d =4
vn=15
Tis =3+ (149)4)
=59
vanswer
(3)P
[17]
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Wiskunde VV1/Mathematics P1

VRAAG 3/ QUESTION 3

Sept 2018

QUES | SOLUTION DESCRIPTORS MARKS/
LEVELS
3.1 311 |19;7;-1;-5 v' v answer
(Imark per 2 terms)
QK
312 2a =4 3a+b=-12 a+b+c=19 Va=2
a=2 32)+b=-12 2—184+c=19 |vbhb=-18
c=35 |Yc=35
3)C
32 (321 |_1<P4 v-1<r<1
4
—-4<p<4 v [answer
(2R/IK
4
322 |Sp=775=3 v
1- T substitution into
3 correct formula
4=3-— 2P /
4
3p R
1= 7 v’ simplification
v
—4=3p answer
_—4
P=73 3)C
[10]

Kopiereg voorbehou/Copyright reserved




Wiskunde VV1/Mathematics P1

VRAAG 4/ QUESTION 4

Sept 2018

QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
4.1 h(x) =—x+c v subst (2;3)into
subs (2; 3): correct equation
3=—2)+c
5=c vV h(x)=—-x+5
~h(x)= —x+5
(2R
4.2 suby = 4:
4=—-—x+5 v subst y=4 CA
x=1 vx=1
~B(1;4)
(2)R
4.3 f(x)=alx+p)?+q Vix)=alx—1)?*+4
fxX)=alx—1)>*+4 v substitution
subst (2;3):
3=a(2-1)?+4 va=1
—-1=a
cf()=—(x—-1)?%+4
fX)=—(x*—-2x+1)+4 vxt-2x+1
Y f(x) = —x*+2x+3
(4R
4.4 Eqn of g: g(x) = ==+ 4 deur (0;3)
x-1 v’ substituting asymptotes
3=L44
-1
_k
=— .
k=1 value of k
gx) = ~—1 + 4 v answer
)R
45 x=0; y=4 vx=0 vy=4 (2K
2)C
4.6 x>1 v'v answer @)
onlylmarkx>1
[15]
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Wiskunde VV1/Mathematics P1

VRAAG 5/ QUESTION 5

Sept 2018

QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
5.1 A (L0) v 1v0
(2K
5.2 gt x=log,y v swop x and y
y = 2% v answer
or
v'v answer only
(2R
5.3 v x — intercept (1;0)
v’ coordinates of
any other point
< (L0)
(2R
—log,x =0 v values
0<x<1 v notation (2)P
[8]
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Wiskunde VV1/Mathematics P1

VRAAG 6/ QUESTION 6

Sept 2018

K
Gegee f(x) = prvs +q
QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
v correct quadrants
v x — intercept
v'y — intercept
vasymptotes
v'shape
(B)K
[5]
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Wiskunde VV1/Mathematics P1 10

VRAAG 7/ QUESTION 7

Sept 2018

QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
7.1 A=P(1-0)" v subst into
13,4\" correct formula
48 000 = 85000 (1 — W)
8 v simplification
— = (0,866)" plif
85
_ 48
N =109os66 go vusing of logs
n = 3,97 years/jaar
vanswer
(4R
7.2 7.21 p x[1-(1+0)™"]
B i
—20%x12
x[l—(1+%) ] v'n= —-240
600 000 = 0,11 vt
— 12
12 v
x = 6193,13 subst into correct formula
v answer
(4R
7.2.2 Cx[1-(1+D™
b= i vn= =72
0,11 —6%12 v
p— 6193,13[1 — (1 + ?) subst into correct formula
0,11
BT CA from 8.2.1
P =325370,62 v answer
B)C
— \n
723 |A=P1+0) 3 V3
0,11 P
= 125370,62 (1 + )
12 subst into correct formula
= 128 850,01 Y answer
3)R
[14]
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Wiskunde VV1/Mathematics P1 11

VRAAG 8/ QUESTION 8

Sept 2018

QUES [ SOLUTION DESCRIPTORS MARKS/
LEVELS
8.1.1
Gegee: f(x) = 3 —x?
F(x) = }lir% f(x+h;—f(x) v formule
. [3=(x+h)?]-[3-x2]
f'(x) = lim
h~0 v (x% + 2xh + h?
f,(x) — lim [3—(x2?+2xh+h?)—3+x? ( )
h=0 2 h 2 2
. 3—x%2-2xh—h?-
fl(x) — }lln% 3—x“—-2x 3+x ‘/_th . h2
, . —2xh—h?
x) = lim ——— —2x—
Feo =g i BB
. —2x— -
f'(x) = lim———
h—0 h
f'(x) = —2x Y answer _
-1 for incorrect notation
G)R
8.1.2 , _ v'subst
}:(2 D= -2(-1) vanswer
B QR
8.2 Differensieer met betrekking tot x:
8.2.1
f(x) = —3x3 — 2\/1} )
f(x) = —3x3—2x2 vx2
F1(x) = —9x2 — X3 5 each derivative
. . (3)R
8.2.2 Xy = (x — F) (x + ?)
o, 1 v'simplification
Xy =Xx° — F
_ 1 v y subject of formula
y=x—7
y=x—1x7°
dy i v 1
d_ =14+ 5.X v 5x_6
(4)C
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Wiskunde V1/Mathematics P1 12 Sept 2018
QUES | SOLUTION DESCRIPTORS MARKS/
LEVELS
8.3 8.3.1 h(x) = kx™1 vikx™t
TN — =2 v answer
h'(x) kx 2)C
8.3.2 h'(x) = —kx™2 v equation (1)
3=—kx7? .. Q)
h(x) = g(x)
-=3x+6
— 2
ke =3x"+6x (2) v’ equation (2)
subst (2)in (1):
3 = —(3x? +_6x).x‘2 v subst
3=-3-—6x"1
3x=-3x—6
6x = —6 v value of x
x=-1
subst into (2):k = 3(=1)? + 6(-1)
k=—3 v answer
(5)P
8.4 8.4.1 p'(x) = 3x% + 2bx + 24 v p'(x)
subst A(2;0)
0 =3(2)2+2b(2) + 24 v’ subst
—-36=4b
—9=p v answer
(3)C
8.4.2 p'(x) =0 vVp'(x)=0
3x2—18x +24 =0
x2—6x+8=0
x—2)(x—4)=0 v factors
x=2;x=4
C(4;0) v C(40)
(3R
8.4.3 p stygend : p'(x) > 0. vip'(x)>0
x<2orx>4 vVix<2
vVix>4
CA from 8.4.2 (3)C
8.4.4 p konkaafop: p""(x) >0 vVp'(x)>0
x >3 vx>3
CA from 8.4.2
(middle of 2 x —
intercepts)
(2)C
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Wiskunde VV1/Mathematics P1 13 Sept 2018
QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
8.4.5 v (2;0)
y vinflx =3
VTP x =4
p v shape
(2;,0)
(3:f(3))
(4;1(4))
(4)C
[36]
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Wiskunde VV1/Mathematics P1 14

QUESTION 9/VRAAG 9

Sept 2018

QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
9.1 h(t) = —10t% + 300t + 9750 vVit=0
h(0) = —10(0)2 + 300(0) + 9750 v 9750
= 9750 met
meters OR
v'v answer only
QK
9.2 R'(t) = —20¢ + 300 v =20t + 300
() = 0 V() = 0
—20t+300=0
—20t = =300
t = 15 sec vanswer
B)R
— 1042
9.3 h(t) = —10t 2+ 300t + 9750 v I = 9750
9750 = —10t* + 300t + 9750 v 30
—10t? + 300t = 0
—10t(t—30) =0
t =30 sec
OR OR
t=15x 2 = 30 sec v'v answer only
(2)C
[7]
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Wiskunde VV1/Mathematics P1 15

QUESTION 10/VRAAG 10

Sept 2018
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QUES SOLUTION DESCRIPTORS MARKS/
LEVELS
10.1 P(nie vanilla) = 1 — P(vanilla) v formula
=1-0,23 v 23% = 0,23
0,77 v answer
(3R
10.2
P(D of R) = P(D) + P(R) — P(D enR)
13 20
P(Dof R) ==+ 22 _ Y3 and o
ARt Vo
P(Dof R) =—=-—=10,85 = 84,62% v answer
39 13 (3)C
10.3 71x2! v71x2!
= 5040 x 2
= 10080 v answer
(2)C
10.4 Beskou die woord :
CAPETOWN
10.4.1 | Number of arrangements = 8! V'8!
= 40320 vanswer
(2R
10.4.2 c. N
6! v'numerator
P(C=N) = 40320 v'denominator
= 0,02 v answer
(3)¢C
[13]
TOTAL = 150




